
1

Parts/Hardware

91124

Tablet Side Table
Assembly Instruction

P1                                        Top                     1 EA

P2                                        Base                   1 EA

A                                        M8 Screw              2 EA

B                                        M6 Screw              4 EA

C                                      Threaded Post         2 EA

D                                      M6 Allen Wrench     1 EA

E                                      M8 Allen Wrench      1 EA

P3                                       Inner Support        1 EA

P4                                        Cover                  1 EA

P3

B

P1

B

1.  Place the Top (P1) upside down on a
padded surface.  Connect the Inner

Support (P3) using four M6 Screws (B).
Use Allen Wrech (D) to tighten. 2.  Place Cover (P4) down over the Inner

Support (P3).

P4

P3

D



2

3.  Screw in two Threaded Post (C) into the
Base (P2).  The Threaded Posts are

used to keep the Cover centered.

4.  Place the Threaded Posts in the Base
inside the corners of the Cover (P4).

Secure the Base (P2)
to the Inner Support (P3) using two

M8 Screws (A).  Tighten Screws with
Allen Wrench (E).

A

P3

P2

Bottom of
Base

P4

91124_04-25-16

E


